
Time: 10 Minutes Paper Math 8 (T-1) Total Marks: 10

6th Month, 4th Week, 1st Day Review Exercise 5Q # (1,2,3,4)

Q.1. Choose the correct Options. (1 × 4 = 4) ŠŠŠŠ¥¥¥¥„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,XXXX

(i) What is the value of x i e., 14,24,x,18,30, when mean is 23:

ììììXXXX 23 ÅÅÅÅ7777¥¥¥¥xxxx™™™™,,,,ZZZZ####āāāāZZZZzzzz‰‰‰‰ x~~~~14,24,x,18,30

(a) 28 (b) 29 (c) 30 (d) 31

(ii) What is the value xi.e, 40,28,16,18,37,20,x 35, when median is 26.

ììììXXXX 26 ÅÅÅÅ7777¥¥¥¥xxxx™™™™,,,,ZZZZ####āāāāzzzzTTTT6666 40,28,16,18,37,20,x 35

(a) 20 (b) 22 (c) 24 (d) 28

(iii) A number which indicates how often a value occurs is called:

ZZZZqqqq----°°°°ŠŠŠŠ����ZZZZkkkk!!!!****]]]]ÅÅÅÅ¶¶¶¶KKKKyyyyŠŠŠŠ„„„„™™™™@@@@****ììììāāāāŠŠŠŠggggXXXX!!!!****ggggzzzzZZZZµµµµƒƒƒƒCCCCìììì''''''''''''ZZZZÐÐÐÐ¹¹¹¹YYYY@@@@****ììììXXXX

(a) frequency®Š (b) mode Z¬Š{ (c) median zT6 (d) average Zz‰

(iv) An arrangement of the values that one or more variables take in data is called:

BBBBDDDD÷÷÷÷XXXX _________ ZZZZyyyyŠŠŠŠggggzzzzVVVVÅÅÅÅFFFF,,,,KKKKMMMM����ZZZZqqqq----cccc****iiiicccc****ŠŠŠŠ{{{{ooooññññZZZZŠŠŠŠ~~~~ƒƒƒƒDDDD÷÷÷÷

(a) frequency ®Š (b) frequency  ®Š~

distribution „
(c) median zT6 (d) mode Z¬Š{

//// Answer the following questions: (2 × 3 = 6) ŠŠŠŠ,,,,XXXX ŠŠŠŠgggg̀`̀̀ffffssssÎÎÎÎZZZZÑÑÑÑ]]]]ÆÆÆÆ����ZZZZ[[[[

Q.2 Calculate the mean from the following the information:

ŠŠŠŠgggg̀`̀̀ffffssss¥¥¥¥ââââ]]]]ÐÐÐÐZZZZzzzz‰‰‰‰¥¥¥¥xxxx™™™™,,,,XXXX

(i) ZZZZ¤¤¤¤////(i)

(ii) ZZZZ¤¤¤¤////(ii)
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